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w®E X [m] Y [m] REBE [m] HIPRY
1 0.600 3.600 2.480 0.80
2 0.600 5.080 2.480 0.80
3 0.600 2.120 2.480 0.80
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w5 X [m] Y [m] ZEBE [m] S RH
4 2.800 3.600 2.630 0.80
5 2.800 1.000 2.630 0.80
6 2.800 6.200 2.630 0.80
7 5.250 6.200 2.630 0.80
8 5.250 3.600 2.630 0.80
9 5.250 1.000 2.630 0.80
10 7.700 6.200 2.630 0.80
11 7.700 3.600 2.630 0.80
12 7.700 1.000 2.630 0.80
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BARIT CEE1012H-C Ill: 1 BREE (Ks4i)

TRFR: AT HFHFA

F19: 547 Ix, F/)N: 458 Ix, B K: 663 Ix, F/ME/FH: 0.84, H/NE&K: 0.69
SE: 1.600 m
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462 525 470 460
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LB 1 : 25
REEE [IX]

m -0.400 0.000 0.400
1.800 458 555 466
1.400 524 640 537
1.000 468 609 547
0.600 461 607 550
0.200 539 662 570
-0.200 538 663 572
-0.600 460 610 553
-1.000 470 611 546
-1.400 525 643 537
-1.800 462 556 471
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HEL] CEE3012K-B #&ifflI1X: BEARE (i)

TRFR: AT HFHFA

F19: 350 Ix, F/JN: 263 Ix, B K: 437 Ix, HF/ME/FH: 0.75, H/NME&K: 0.60
BE:0.750 m
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BERS [IX]
339 332 353 367 325 349
+ + + + + +
362 360 382 394 354 373 283
+ + + + + + +
333 341 360 368 338 343 268
+ + + + + + +
405 395 420 437 389 415 317
+ + + + + +
334 342 358 368 339 343 267
+ + + + + + +
362 361 382 396 355 372 285
+ + + + + + +
341 334 354 368 327 348 263
£ £ £ £ £ £ 269
Hpl:1:50
REBEME [IX]
m -3.086 -2.057 -1.029 0.000 1.029 2.057 3.086
2914 341 362 334 405 333 362 339
1943 334 361 342 395 341 360 332
0971 354 382 358 420 360 382 353
0.000 368 396 368 437 368 394 367
-0.971 327 355 339 389 338 354 325
-1.943 348 372 343 415 343 373 349
2.914 263 285 267 317 268 283 263

DIALux

4



2= RAAEL 2022/2/22 EH=

S8 1/BRW A/ BE 1/ EH 1/ 5—UGRIER /| Si— KIS (UGR)

DIALux

8 —UGRISH | 5 — B H A5 (UGR)
% ] [% i
[o [fm

s B b

O
]

=

(=]

= [=|

[
I

B8B83

[=]=]

==
8

==
=]

ol = s B S a—
[o [oCo To o
[ ﬂﬂ] nms [0 To
Io'[o o [o Em’
(o %ﬂﬂ’[%m (o (o

% —UGRIEH: S —BZSLE3 (UGR) (164
TR STHIFRA
BARREETE: 195°, {A: 16.5, FR4I{E: <19.0, MEBE: 0° - 360°, HIE: 15°, BEE: 1.200 m
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	位置
	黑板灯
	教室
	UGR

